Physics 53600 — Assignment #3 Solutions

This is the circuit consisting of lossless transmission lines, simulated with LTspice:
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and this is the plot of the resulting waveform, probing the circuit at vin:
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The interpretation of the different reflected pulses can be made by recognizing that
the junction of the three transmission lines, the impedance is 25 Q (two 50 Q
transmission lines in parallel) so there will be a negative reflection coefficient at this
point in the network. The reflection coefficients at the ends of the two
transmission lines on the right are +1 and the reflection coefficient at the end of the
transmission line on the left is 0 because the source impedance (50 Q) matches the
impedance of the transmission line.
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